(YIAY) | (YIAY), HAULAB -Y-Kontrast
Ci/Cu=(YIAY)(YIAY),  normiert fiir (YIAY),

3 L* =s(Y/Yp)"-d (Y,=100,Y,=60,5=163,9, n=0,31, d=90,2)[1a
L*=r (YIYY)"=d (r=s(Yy/Yy)"=96,32,L* = r-d =6,0)  [1b]
Y_curve, ij=36, Yuij=60, L“uij:50A A
2 Kij=117,1, (YIAV)/(YIAY),=1,1
06.2,(YIAVYI(YIAY),=1,007 ,# 1,924
k=1, Ykij=102, L*kij=85,5, (Y/AY)/(YIAY),=0,34 / «
k=0, Ykij=101, L*kij=85,1, (Y/AY)/(Y/AY),=0,28/s*
340/fe=49, f4=20 —o0'
1 L Do a7 93T A&-P%—zo "
3 Law=1000cd!
.z 1 Anwendungs-
' 1 bereich
o 0,1 10 "Y,=18100 Y
—2 -1 0 1 Y,=60 2 logY
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